May 14, 2015

14-4 Solving Rational Equations

Book Section 9-3 pgs 498-504
Objectives:

| can solve a rational equation algebraically
| can identify extraneous solutions

| can solve real-world problems using rational equations
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B 2x—9+£_ 5

R x—7 /Q\(k\fﬂwwg S'DW\ pg. 499

Identify any excluded values C

x—7=0 4 7 47
=7

The excluded value is 7

Identify the LCD.

The dlfferent factors are (X"j 1
The LCD is X "7)

. 2x—9 X -7 5
Multiply each term by the LCD. [ . 2 ‘&‘ ;’ +35. 2 St =2 . :Z ! Kf 5}
x—7 \ '2 1 x/ﬂ
_ 5

Divide out common factors. 2x?—9: Z ,%, (X‘?) '
Simplify. Fx ZID 9)+%{X-=7 ) = ( VA )

(
Use the Distributive Property. Lb(*— +x—7x= &Md'

Write in standard form. _ 28 - 3 )( —5)( %

Factor. \ 28 (}( A L\ ) E(— 7 ) =0
Use the Zero Product P X‘( (_( - o 7=009
Solve for x. @ X,‘? - O b

The solution x = is extraneous because it is an excluded value. The only solution is x =
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Example1 Solve each rational equation algebraically.
@ 3x ;{-57 5x + 17 X /é 6
2(’( 9) L CD (X_S)Z.

7(x%)

?’X’” 205 = 9x+l7 Z(W

pg. 498
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Your Turn pg 499

Solve each rational equation algebraically.
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Solve the rational equation algebraically pg. 504

£-2 _ 6 . 5 X‘fzzg

T x—7  x-—3

G753 LD (x-2)c-2)

=29 bies) b legixs), S0
b7 7b3) ):"3)7_%}_7__()(7}0( 3)4)(7% (X XK?

X29= ({2 + 50
(2726 - 1B 45x - 25,

X=29 = (-5
-k 45> I +J>§




May 14, 2015

10. Jake can mulch a garden in 30 minutes. Together, Jake and Ross can

pg. 506
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Your Turn

4.

Kexin can clean a large aquarium tank in about
Zhours. When Kevin and Lara work together,
they can clean the tank in 4 hours. Write and
solve a rational equation to determne how long,
to the nearest tenth of an hour, it would take
Lara to clean the tank if she works by herself.
Explain whether the answer is reasonable.
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